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Make a rectangular tray of 300 x200x 75size from
a Galvanized plane sheet of gauge thickness.
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3. Make a V-block from C.I. cube 75x75x75 size on

shaper machine as per dimension shown in
figure - 02
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Figure - 02
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20 1 9(Odd) Old Syllabus

Time : 6Hrs. Sem.V -M.E.

W/S Pract.

Full Marks : 40
Pass Marks : 16

Each question carries equal marks.
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Perform any one experiment/study and furnish it report
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Experiment will be allotted through lottery to examinee/group

of examinees.
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Necessary calculations, drawings and other works shall be

done individually.
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4. Make a job form given m. s. rod on lathe machine

as per dimensions shown in figure -03
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4. Make a job form given m. s. rod on lathe machine

as per dimensions shown in figure -03
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